10 Linear Regression

Y
l ) 80 4‘ .
. a

2T e
‘o %g\_{g& lincor ossocio\\on
o

l'o L [ ]
30
20 [

10 9

)

I AOA\‘\I\cur ass0 c‘m\iw\
28 [ G

ﬁ&" hl\W ass ocioxuon

wook2 L3 M LS Lb 17 tg 1m X

Qe
N———
=
L ]
®

[ ’ zen qssocia\i on

L N . )
—t } $
L]

[ 4

-




Page 2

2. o) 0%
(- 0.bh = (47

b 09
=03 - 37

3. O%Ll = [rﬁ\ '4 \fg\‘— O(“) £ Se-\' K t\as a 3\0)!3.21 lil\ew O)wbax(;OA
[f- al wsin 3(\1 ca\m\m\or: 0= %,5
) J h<-0.52
g+ 4b -0.524
D) sy y- s bl ot - 00
x:4.0 =] qt %lk' 05.2(‘[0) : ‘O%

C) usiﬁx) )(\u co\\m\o«\rori - ’O-q‘\Q\ (orm\o\\iof\ ravw‘c]eA
(2= OO((“ coe“\‘dm\ o¥ &Aﬁm"(\ﬁkhm

§) 147

o 4t = - lb-0.9(5)- 504 gL
B) 2 s odale W db onge 1044¢ |20
J\ 450 = 5.0-8l-05}

-3.0b = -0.54
b1 K



Page 3

j . a) ?osi\\\&

L) 22 0803 amd 00
c= ot 0.9377

c) $1.9377,
(\/) é\on:0.00ﬁ=w_‘1:ﬂ=éj
| rmr X
As “L&, ol \){\oc\\q INCIROYe s L:\( | cw\ls,

J(lm, e\mﬁ:m\wv\ (ot \(\W\\r INCN0%S 0N o«ulm?l.

by 000



